FDM AL BE AT No.5
EE-EHETEVYETAHRN

200746 A

& R (REIZKF)



© N R W N

H R

. ﬁ’q’:*ﬁﬁ‘%

ﬁﬁ"’ _737'7_$£_t
IEREHEHEASE
= EICKLHEERIE A A
sTEFIE

09 S LEEES
ATEHER




1. TR

1.0



2. BEEAER

o NIMUVRIROEFEAIER

div(v)=0

ov |
—+(v-V)y=-Vp A Av
ot ( ) P Re




2.1 2Rt EAFRMEREASIER

ou oOv

—+—=0

ox Oy

ou ou ou op 1 (0°u ©O°u
—tU—F+Vv—=——"+ —+ —
Ot ox oy ox Relox” oy




3. BE-IEHAEK
c EAP)ICHETAIANDEH

ov 1
—+ (- V)y=-Vp+—Av
ot v-¥) r Re

DFEER (rot)& &Y, D =diviv)ZX AT S,

D" -p" 1]
-Ap =div((v-V)v)+ ——AD"™
o (V) At Re

AREED=0THY. D"EADLEIEFTEMRTESD,
D

-Ap =div(v-V)v)— ~




3.1 EE-EHIZLEAFER

div(v)

—Ap =div((v-V)v)— v

oV |
—+ (- V)y==—Vp+—Ay
Ot ( ) P Re



32 2RITEE-EHOEAFRAFET

2 2 2 2
—af—al;:(a—uj + @ +2@@— ou 6v / At
ox~ Oy Ox oy ox oy \ Ox 8y

ou N ou’ N o(uv) 8p O’u 82

ot 0Ox oy 8x Re| ox’ 8y2
@(uv) 8\/2 6p 1 82\/ o’

8t ox 8y 8y Re| ox’ 8y2




4. BREHEHEH

« u,VDIERFH

u=1,v=0 on L,

u=v=0 onL,,L,,L, L, L,

o #EIEE; u=v=0 in FEIE L,



4.1 ENDERFHENHEH

o PDIEFREH
p=0.0 on P

Oy

0x
- pDHEASH

p=0.0 in RNERSE:

a—p=O.O on L,,L,

a—p=O.O on L,,L, | .

]
L, L,

10



4.2 pDETERASMHIER

u l,j_ulj,v_ljj:—vlj,
P_1,;, = P, on L,
U, = U1 Vi1 = Vi1
Pi-1 = Pix on L,
uny+IJ:uy—1,J’
Vi +1,5 = Vo -1,

R EMH

v

_L1
| H
L, L,
| —
L
Py
Pl

11



5. EREICKDBERIE A A

o« RAT—FIEF
oo o
® vigF ‘x‘x.x.
| o ole
. VET 9,0 .0 x @
x ¥ oo o
® <0 xO® x O
oo le

12



5.1 BEEFIZELHEEENLE

« BERT

@ u,v,pi&F

13



5.2 pDEEEIE(BEEF)

2p =D~ P 2191 P~ Pija

(Ax)’ (Ay)’
(ui+1,j —U )2 N (Vi,j+1 — z',j—l) N (Vi+1,j Vi 11)(7/‘1 U 4)
4(Ax) 4 Ay) 2AxAy

. z/li+1] uz —1,j 4 Vi,]+1 vz ,j—1 /At
2Ax 2Ay

14



5.3 uDEEFIEGRE S F)

k+1 2 2
(k+l) _ — U

Upj  —U; Uiy U WiV T Y
At 2Ax 2Ay
B Piv,; —Pia B
2Ax
20 = Uy Uy 2y U Uy /Re
(Ax)* (Ay)*
)

15



54 vOEEFIEGREISF)

(k+1)

V V. . u Vv

u V

2

2
Vi =V

i,J N Y M Y R e e e Y N N
At 2Ax 2Ay
P T Pija
2Ay
2V, Vi " Vi N 2V, = Vi1 " Vi
2 2
(Ax) (Ay)

/Re

16



6. ETHEFIE

« u,v,pDETE

k=0,1,2 --- LIEEEBFETHE

t=t+ At
u® v D EFE (p®,u®,v 0% {51 FH)

pl V% R A TEE (), v VEREFE

17
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NX,Re#, At, NT(RE[EZ) MT(H A=) A 7
u,v,p D EAFEHERE
k=1,2,- - NTETREFE

t=t+ At

wvDETE (7.1Z7F )
if(FEE(OverZZ THITE)) > HEFELTELE
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if(mod(k, MT)==0) --> u,v,p®D H 1
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s uv,pDHHFH U VDIERFHEZED)

for (1=0; 1<=NX 1++) {
for J=0; ;]<=NY; j++) {
P[i][j]=0.0; U[i]j]=0.0; V[i]jI=0.0; } }
for (1=0; 1<=NX 1++) {
U[i][NY]=1.0; }
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« h=Ax=Ay, DT=At,D5=1/2h,D2=1/h2L9 5,

for (1=1; 1I<NX; 1++) {
for (=1; J<NY; j++) {

U]l = Ul + DT*((UL-1GFUA-1] G ]-U A+ UL+ ][]
+UNI-11*VI]G-1] - ULV [+
+ Pi-1][j] - P+1]D*DS - (4.0 U] ] - UL[j-1]

UL-1][] - U+ ] - UL+ 1])*D2/Re ) ;

V11 = Valol + DT*((VEID-1FVEIG-T-VO] G+ VIag[+1]
+UL-11*VO-1G] - UGV
+ P[1][j-1] - P[1][j+1])*D5 - (4.0*V[i][5] - V[1][}-1]
- V-G - Vil - Vilp+1)*D2/Re ) ;- § §
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for (1=0; 1<=NX; 1++) {
for (j=0; jJ<=NY; j++) {
// Boundary on L1
if(j '=NY) { UOP=U[i][j+1] ; VOP=V[i][j+1]; }
else { UOP=1.0; VOP=0.0; }
// Boundary on L2
if(i 1=0) { UMO=U[i-1][j]; VMO=V[i-1][j]; }
else { UMO=U[1][;]; VMO=-V[1][j]; }
// Boundary on L3,L4
// Computation
B[1][j] = (UPO-UMO0)*(UP0-UMO) + (VOP-VOM)*(VOP-VOM))/4.0
+ (VPO - VMO0)*(UOP - UOM)/2.0
- (UPO - UMO + VOP - VOM)*H/(2.0*DT) ; } }
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7.4 pDSOREIZKDFTERIR

RN =0.0;
for (1=0; 1<=NX; 1++) {
IP=1+1; IM=1-1; // Boundary on L2, L4

fi=NX){IP=NX-1;} ifi==0) {IM=1; }
for j=0; j<=NY; j++) {
JP=3+1; IM=)-1; // Boundary on L1,L.3
ifG=NY) {JP=NY-1;} ifG==0) {JM=1;}
R = (BLi][j]+PL][IM]+P[IM][j}+P[IP][j]+ P[i][JP])/4.0-P[i][j]
P[i][j] = P[il[j] + ALP*R ;
1f(1==0 & j==0) { P[1][;j]=0.0 ; R=0.0; } // Boundary on P1
RN =RN + R*R*16.0 ;
I
ERR =sqrt(RN/BN) ;  ERETIDEAVNSLVEULER
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